
�6 	������� 	� �� +������ O �� +����� (PAC)-
��� 3�� A� B� C �� D +����� ����+����
� ���/�� 7���� AB = AC = AD = 4 cm ��

BC = BD = CD = 6 cm- 9���
*����� 	������� 	���
� 	
�+���� AB �� CD-

����� � ����

��� 9��� a� b� c ���� �����*��� ����
���
 ���� �
���� �� �
����� �� ������� b2x2 +
(a2 − b2 − c2)x+ c2 = 0 �� �
� 
�	����� 
����-

��� 3�� /�*���� 	� /������ fm(x) = mx2 + 2(m+ 1)x+m+ 2, ��	� m ∈ R∗.
�6 �
����� �� ��
/�
��� +�
�������
 �������� ������
 /������ �� ������ +� 	
��+�� 	�

������� y = x+ 1, *�� +���� +������ A(−1; 0)-
�6 �
����� �� ����� ������ +�
����� �
�� +
���
��� +���� 18-
�6 =����� � 
������ ��	�+��	���� 	� m 7��
� 
�	������� �������� fm(x) = 0-
��� ���� ������� 
���� �
� ������� sin x = x2 + x+ 12
��� �
����� ��5
�6 ��*�
�� sin 10◦ · cos 20◦ · cos 40◦ ���� 
�������<

�6 �����
�� �8+
����� sin2 x+ sin2
(π
3
+ x

)
+ sin2

(2π
3

+ x
)
�� 	�+��	� 	� x ∈ R<

�6 ������� sin(sin x) = 1 �� �
� ������� 
����-
��� �6 �
����� �� 7� �
��� �
���� � ABC �
� ��� 
������ sin 2A + sin 2B + sin 2C =

4 sinA sinB sinC-

�6 ���������
cosA

sinB sinC
+

cosB

sinC sinA
+

cosC

sinA sinB
� 	��� ABC ���� �� �
���� �

���������� ��-

��� �
����� ��
∣∣∣ 1 + sin 2x

sin x+ cos x

∣∣∣ ≤
√

x+
1

x
� +���
� �
��� x ∈ (0, ∞) +���
� ��
�

sin x+ cos x �= 0-
����� � ���

��� ;� +��� �� �����	�
� � *����*� A ��
� ������� n +�����-
�6 9���
*����� ��*�
�� *�8�* 	� 	
�+�� ��
� �
�� +
�� ��� +���� 	��� +����� 	��

A-
�6 9���
*����� ��*�
�� *�8�* 	� �
���� ��
� �� ��
/�
��� 7� *����*�� A-
��� ;� +��� �� �����	�
� n +������ 	���
� ��
� k ���� ����*��
� +� � 	
��+�� d� ��


n− k ��������� +� d-
�6 9���
*����� ��*�
�� *�8�* 	� 	
�+�� ��
� �
�� +
�� 	��� 	�� ���� n +�����-
�6 9���
*����� ��*�
�� *�8�* 	� �
���� ��
� ��
� �� ��
/�
��� 7� �
�� 	���
� ���� n

+�����-
��� �6 9���
*����� ��*�
�� 	����������
 ���� +������ �����8 �� n ��
/�
�-
�6 9���
*����� ��*�
�� *�8�* �� +�������
 	� ����
������ � 	����������
 ���� ����

+������ �����8 �� n ��
/�
�-
��� �
���* ����� 	���������� ���� +������ �����8 �� n ��
/�
�- !
���+���* ��

�
���
� �
�� 	�������� �� ���� �����
����-
�6 ;� ���� +�
�� ���� 7*+�
��� +�������� 2
�6 �>��� ��*�
�� �
���� ��
���
 	�/�
��� ��
� �� /�
*����-

��� 9�*����
��� �� ��*�
��
60!

(20!)3
���� ����
��-

��� 9���
*����� ��*�
�� ���������
 �����*���� x! < 7� y! < 25� ��	� x �� y ����
��*�
� ����
���-

����� � ����

��� �� �����	�
� /������ f : (0,+∞) → R� f(x) = 1− lnx

x
− 1

x
-

�6 9���
*����� ����
������ 	� *�������� ��� /������� f -

+2


